EARAROBEEIERT — 2 N— IBISH —F

20128F9A 120 (K) 11mEPI5I28

m"fﬁ%—ﬂﬁ C4 80ATF ‘ =z # ‘ (arsh] — | & (%) 1000M &
[AE£] 1% :150,000  ~ 2#&:24,000 ™M  337%&:18,000 M . 43%&:12,000 M 57 :6,000 H
B ®RBE mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
o 1o RETE : = - FEEVER] (b
1 6| /XKL i 4 oaRTE 1.(0_3).5 2-2 38.7 6 ;1_162) TEE%;EE (AtimsE)
R:TFv 8%y —F B:Y>TI—L Rk FHBR
== ZHTHEA :03. - . = EAREHE (oimE)
olgli1|FaFsv 7% it 3 i 1(10/32)6 1-1 39.1 3 (4_760) *’A:k;—ﬁ i
B N O G = AT VAT S * 33 345
NS s tr 3| BREC 1:03.7 6-6 81| — 5 438 | AIIEH (tiEmd)
3l7lo| 77K PUH 73 &% () oy | B 75 ki
RXHT R BRE—hT—F VEPAY ¢
. N BRERIRSE - - AAZE (dtisE)
sy o | 7>V TaI - o3 | B 17(J3t)7 A ° ‘ng REES (B
R/ RS vy T B:IZANYT BE &
J3 BHssa :03. - . - {EREZERE (dtigi)
N . NPPELYES" R dae e M A el
RNy E—TATI8— BiYIT8%%> bite )
o1y s it 3 | BHERE 1:04.1 3-5 38.9| — 8 400 | KlsIER (L&)
6lgl1g FEZ/T7UER 54.0 (1 1/2) w2) | 8 AR
L:wTvIIRAINZ BFAIAT R A= BE
. 2ERY : = — HZEePE (dbimE)
7 3| v I—0 i3 | BER 1.&5).0 43 [30.7 1 <4+226) /J\:é:—{:ﬁz(:m—
R:772AUVIL7 8:5T)—-FF R %5
S N EEER :05. — . — REEERI (AbisE)
glsls |17 nn— 4t 10 ey 1(/(\13? 9-9 38.6 1 :J;) E;ﬁ%a i
RHA BT =T v BiuA S SIS— Rt
N 4 3 | JISHA 1:05.0 10-10  [38.5| — 7 462 | Kl (AbigiE)
EE 7| PAVY 56.0 () o | B -
RBALINT Ry IR BZV I HA)T RIS
S IR T4 :06. - . - FZEF (dtimE
1001]1]IRE/ TN i 3 s 1 (076)4 7-7 40.7 2 (gg) s (g;_
L2y Iy F— B:xIH3 KEHS
. . MR : - - WA (L)
117l 8 YooY R—H 44 jrysihd 1.(037).0 11-11 39.1 10 (fé) = t@F Bl
Lixyyr IV BIITA—-IXFx— K& FB
@ 1 — S —EBlIEf
13—7+—
230—7—
Jol=5r= 11,6,10,(2,3),9,1,4,5,7,8
43—F— 11,6,(2,3),10,9,1,4,5,7,8
[ N3
B OB 6 810H & 6-8 780M 3EER 6-9-11 1,720
8 B 6 200M B E 6-11 1,380M JEH 6-11-9 13,390M
1 170 | | B B 6-11 3,890M
9 140M

ABICOVWTRDTEEERROODE. TR LIV,




